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Single Entry System gontains, _4.”‘}”’ (osGLsI M | 1

SaleBook =35/ (D)  Purchase Book {47 (C) CashBook (Eitaihrs) LA (B) Day book or General Journal fJlp) 2 (A)

Single Entry System is not suitable for. - U Ubenne s | 2
Partnership Jyumfl 7 (B) Sole Proprictorship JLur(?.‘ iy (A)
Joint Stock Company &% 1§zt S (D) Stmall Business A2+ (C)

Statement of A ffiirs is prepared under.....Syster 2F L bl ipatbnt?S | 3
AccrualBase  (Wltied (D) CashBase (WKAB(C) DoubloEary Fi#1ks (B) SingleBatry I8 (A)

Sale of old newspaper s treated as. el firdasfleatpiliy | 4
' Lisbilities w=Az2is (D) Assets =Aps%(C) Expenses =l (B) Income (47 (A)

Income and Expenditure Account is credited with e bne b SRS L A daT | 5

Lisbilities =d2fs (D) © Assets = 38(C)  Incomesyp4T(B) Expenses =l!/t (A)
-q_?l_'y()f’ f£71 6

Legacy is generally treated as.
Capital Expenses ...L.vu}“f (D) Assets =k s(C) Expenses =l!#1(B) Tncome (4T (A)
An income and expenditure account is. _q_..fjb’ib‘&fuld,«f 7
Cash Account 55 (D) Personal Account =4 uj (C) Real Account s (B) Nominal Account 54 (s° b (A)
Under straight line method, every year the amount of depreciation js. -‘,‘-—dﬂlﬁf S L3P L fvec p)atis | 8
Changes every year g_d.n‘,bf Jbsr (D) Remains same q_u’bu" £1(C) Decreases q—dxf/ (B) Increases ("% (A)
Which one is intangible assets, -q....&...‘lﬂtj Y4 uJ Sl | 9
Cash u’-‘f (D) Machinery (§2* (C) Goodwill STk (B) Building =it? (A)
For  business, depreciation is. a8l Lap | 10
Liability =iz2!s (D) Asset 28(C) Expense 7(B) Income daT(a)
The person who sends his goods to agent for sale is called. -q.t'lkv(uq._l?.‘.'[ 4.(-&.1/ :))}Jl.f LA z;f" |11

Whole Seller J1//»# (D) Exporter AL Consignor AU(B)  Consignee -7V
..;.C‘ll{):(iji.(!k(mf,’ld/ 112

Bonus (/¢ ) Commission‘ug"-r (C) Wages Ymr(B) Salary WF ()

The remuneration paid to consignee is called.

Consignor is also called. ..4.#'!1-;( FJr |13 .
Buyer sl-47 (D) Seller Usl /i=3(C) Agent &€ (B)  Principal M (A) 1
A public Limited Company rmust have at Icast ....... members. PRy ﬂ'/‘;‘?{‘ty Ll | 14 }
50 (D) 20 (O) 07 (B) 0z (& , L
A company is owned by. _4_3,:.-4‘;4" 15
Employoes o2 (D) Sharcholders (s> (C)  Promoters i»s4(B)  Directors 171}
The liability of sharcholders of a public limited company is. -q.(}nd/b.d(; u::bz’ﬁ(ﬁr P A | 16
Asperagreement (b Loyl (D) Compulsory 8 (C) = Unlimited 2.6 # (B)  Limited s (A)
4 Shareholders receive. LS | 17
Income (47 (D) Salary 17 (C) Intorest 2 (B)  Dividend (7 (A)
Partnership Act is. oy q_.:ar! fudv | 18
1984 (D) 1948 (C) 1936 (B)  1932(A)
For the Firm interest on drawing is. ey Pl Lep | 19

Asset 381 (D) Liability =d2h(C) Income J47(B)  Expeuse 5.7 (A)
The person who is partner in partnership firm and his age is over 18 years is called. -q_?ﬂf(m/ Ve 182 S mela | 20
Active Partner Jis (=’ )”¥ (D) Insolvent Partner s .. Jis (C) Major Partner > &}, (B) Minor Partner 15,40 £yt (A)
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Q No.2: Write short answers of any five questions. 5x2-10 .J_,wﬁ Ll?lét:_.ufdjbu : Z/Jtr
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(1) What are the Merits of Double Entry System ?
(2) What explanation do you have for Quasl Single Entry System ? (3) Define Consignment.
(4) What is meant by Normal Loss ? (5) Define Indirect Expense (6) What is AdmiSsion Fee ?
" (7) Define Legacy. (8) Define Commission. : .
Q.No.3: Write short answers of any five questions. 5x2=10 .g.:aguz /3 LIz é&,:—-u-‘-"b@: : 3,?dlr
S FE W) et T EF G) Fohd Q) s rti §p 4 (1)
ALk = ES AL (6) Zdpekor® SF S 72 (5)
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(1) Give four examples of intanglble assets. (2) Describe Scrap value. (3) Explain article of association ?°
(4) Define preference shares. (5) State four characteristics of joint stock company ?
(6) Complete the formula of gaining ratio. “Galning ratio =

(7) Explain dissolution of partnership ? (8) Define good will ?
(Part—11) (224

Note: Attempt any Three questions from this part. 20x3 = 60 ..q_du/bf Srf i Lo sd
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Q.No.4: Mr. Asad keeps his books on single entry system His financial position on ™ January and
31* December, 2019 given as under. v

Particulars i | /1*Jan2019 | 31" Dec. 2019
Bank 4 1,500 18,000
Cash B 9,000 23,000
Stock Y5 30,000 65,000
Equipment =7 6,000 8,500
Fumiture &) 8,000 8,000
Debtors ML) 11,000 25,000
Creditors  J5%/ 5,600 17,600
Additional Information: s Bl
I. Depreciate fumiture by 10% -¢10% Ejfor ) 1

404420100000 Lo 21504000 L Les 4315 -1

ii. Drawings Rs.4000 and further investment Rs.10000 during the year.
Required : Find out Profit and Loss for the year 2019. 2t e i
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Q.No.5: The following s the receipts and payments account of Pakistan Club. Prepare i income and
expenditure account for the year ended December 31, 2021.

Receipts s Rs. | Payments ULE Rs.
Opening Balance S b 800 | General Expenses LI/t | 300
Annual Subscription  +.3 2UL- 815 | Salaries u? | 275
Member Fee A 125 | Fumiture Purchased 1+ 2/ | 400
Admission Fee U s 120 | Rent 3 250
Sales of Fumiture =5:/.%/ | 600 § 2 sde | 62
Printing and Stationary '
Interest on Securities s+ 2.4 | 80 | Repairs ers | 75
Misc. Receipts  UU»»J>” | 25 |BalanceofCash ¥iw¢/7 | 1213
Total 2575 Total | 2575
13
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Additional Information: 0&,»__/

() General expenses payable Rs.20

(1) Annual subscription outstanding Rs.175 |
(i) Member fee received In Advance Rs.25 .q.],"d:':gfbyu’i’ yd d'—.uZSar Giii)
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Q.No.6: Arsian purchased Machinery for Rs.20,000 on 1* January 2012 and Rs.4,000 was spent on its

installation. Prepare Machinery Account for 5 years If Depreciation is charged at 10% P.a by
Diminishing Balance Method. , '
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Q.No.7: On 1* Jan. 2015 Bilal of Multan sent 500 Boxes of Tea to Tarlq of Lahore on consignment basls.
Cost of each Box is Rs.1000 Bilal paid Rs.15000 as Freight and Rs.8000 as Insurance.
On 31 December 2015 Tarig of Lahore forwarded an account sales showing that 200 Boxes were
sold @ Rs.1250 each, while 250 Boxes were sold @ Rs.1200 each. Tariq of Lahore pald Rs.3000
as wages and Rs.2000 as ‘advertising charges.A cheque of Rs.400000 was also accompanied
with the Account sales. As per Agreement Tarlq of Lahore Is entitied 5% commission on Gmss

sales.
Required: Prepare Journal Entries in the Beoks of consignor and prepare consignment Account.
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Q.No.8: A Company has an authorized capital of Rs.500,000, Divided 10,000 shares of Rs.50 each. On
1* January 2020, company lssued 6000 shares o general Public @ 10% discount. 15" January
2020 company recelved applications for 7000 shares. Share were allotted 6000 applicants and

extra amount was refunded.
Required: Pass the Journal entries In the bocks of company and draft the Balance Sheet.
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Q.No.9: Gulzar and Bashir formed a partnership on 1* January 2015, They agreed that out of profits.
() Gulzar should received Salaries of Rs.6000 per year.
(i) Interest on capital should be allowed at 6% per annum.
(i) Remalning profit be divided equally.
Gulzar contributed Rs.50000 as capital and Bashir contributed Rs.100,000 as capital
During the year drawings wers,
Gulzar Rs.15000 and Bashir Rs.25000, -
Profit before the above noted salary and interest were Rs.60,000.- -
Required: Prepare Profit and Loss appropriation account 2015 and capitals account of partners
under fluctuating capltal method. _
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